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1.

Ifn(A-B)=16,n(B-A)=10n(A NB)=5,0c»& then find

the n(A U B) 8&/°&d0. ( )
A)21 B)1 C) 26 D) 31
The Product of log band log a = ( )
log b &8asw log a © ozo =

A)0 B)1 C)a D)b
The roots of x++/x—2 =4 are Sog) Soceren ( )
A)3,6 B) -3, -6 01,3 D)4,5
The logarithm of 27 4/93/9 to the base 3 ( )
3 eaaofoa)‘é 27 i@% To), SODESPSH. .

A)8 5 B) s C) 5 D) 3

The values of 'k' for which the equation 2x? — kx+ x+8=0
will have the real and equal roots are ( )
Too¥), Loreren JHESHD Tdarer wowd K Denden
A)9and7B)-9and-7 C)9and-7 D)-9and?7

3+1
If X=\/—Tthenthevalueof A%+ 2x% —8x+ 7is( )
3+1
x=\/_ oS 4AX + 2X° —8X+ 7 Dend
A) 10 B) 8 C) o6 D) 4
3
The rational d inator of th d —=
€ rational denominator o € Sur 3/5 ( )

3

% BBBDH FBESW ..

A) 1 B)2 03 D) 4

If f(x)=setof factors of X, exceptl and

f(y)= f(20) f (30) ,then f(y)isequaltto  ( )
f(X) = X&) ,1 85) o) s*¥esrosren LB
f(y)=f(20) f(30) .003 f (y) ... H JSrL55
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10.

I1.

12.

13.

14.

15.

16.

17.

A){2,3,4,5} B) {2,4, 5,10}
0) {2,5,10} D) {2, 3,4, 10}
The cost of painting the CSA of cone at 5ps/cm?  ( )

isRs. 35.20, if slaint height is 25cm then volume

of coneis.... cm’ a8 $0HHEH SESIE Bord FDohdd
53,/ 0.0 FEpS 8035.20 HE@H%0b5BAE 7o
e 25 0. Deond $0HK) HEH0STRED ... 20.80°
A) 1223 B)1232 () 1323 D) 1332

Range of the values 21,42,18,9, 5,15, 39 o a=gdy( )
A) 33 B)27 C) 47 D) 37

The class interval of class 1 - 10 #5858 @os8o  ( )
A) 10 B) 1 C) 9 D) 5.5
Designer of the architecture of the present day

computers ... (58 Sodegd 5588, ( )

A)Babbage erz)& B) Von Newman &8 &b
C)Bilgates Sn¢e D) Pascal &8

The width of a rectangle in a histogram represents ( )
A) Mid-values of the class 8858 SogisDenden

B) Class - interval BEKB ©0885»

C) frequency of the class 85158 FrSegx0

D) number of classes Ssride Doy

Following lines have a common property ( )
@o&m@éﬁ 2.8 {5 656&0 BOAS S8 Bpen

A) y=2x+3,y=-2x+3B) 3x+4y=3, 3x—4y=3

C) y=x+2,y=—x+2 D) y=—-Xy=-X+2

Equation of X - axis X - o 3880 ( )
A)y=0 B) X=0 C) y=—x+2D)y=x+2
IfA(-3,-4),B(12,5), C(x, 12), D(-1, 3) are vertices of a
parallelogram then xisequalto A(-3,-4),B(12,5),C(x, 12),
D(-1, 3) e S&0088 Sehidyes Boren wond X Deod ( )
A)12 B) -11 O 14 D) 8

If o and S areroots of the equation x? 4+ 2x+1=0

1 1
then the equation of whose roots are p” and E is

2
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18.

19.

20.

21.

22.

23.

24.

1
X2 4 2X+1= 0 GoE) Soceren o 0805 [ wand 526360‘533

1
E Soeerenrriie Eétéég))ééeaéw ( )

1 1 1
X +=x+==0 XX+ Xx+==0
A) 2 2 B) 2

C) X’ +2x+1=0 D) x2+%x+1:0

If X=1+/2and y=1—+/2thenx? + y?is ( )

x=1+/2 55805 y=1-/2 wond X2 +y?

A) 2 B) 6 C) 3 D) 8

If the capacity of a cylindrical tank is 1848 m* and

the diameter of its base is 14m, then the depth of ( )
the tankis... m Xwarsd ergoHS® 1848 ° A Hep
e AwE) g a‘gézﬁwlzl & wond éo‘goé) S ...

A) 12 B) 24 C) 6 D) 36

If the volume of a cube is 729 ¢cm?, then the surface

area of the cube is ...cm”* &8 5% GoE), HBHOBTEKD
729 20.8° wondmed Sodrsdegaregin = 0.8 ( )
A) 456 B) 476 C) 466 D)486

If log,, (X* —3x+6) = l,wow@ the value of X=( )
A) 100r o 2 B)4 or8we -2 C) 4 or8we-1 D)3 ordee -1

If f(x)=5x%—2x—1.then f(x+h)—f(x)= ( )

A) 5h? - 2h B) h(10x+5h—2)
C) 10xh—4x+2 D) 10xh-2x-2
1——1 +—1 =

1+4/3 1-4/3 ( )
A) 2 B) 1-vV3C) 1+43 D) -2
If P={3m: m€ N}and £8c» Q= {3":n €N} eons

( )
A)PcQ B)QCP ()P =Q  D)Nonedbs
3
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25.

26.

27.

28.

29.

31.

32.

The ratio of radii of two cylindersis 1 : /3and heights are in
the ratio 2 : 3. The ratio of volumes is ( )
Both HEswe agrtive s 11 /3 woan Ko

8 213 wond a8 3588mere A
A)5:9 B)4:9 C) 1:9 D) 2:9

The value of the real number X satisfying

log, Xx—log 1+1 =1 %83 <

0 (10" 9 , B8 DBY Xarddend = ()
A) 10 B) 2 C 4 D)9

If log, x = 2.5, thenwond X = ( )
A)90 B) 05 (©)36./6 D) 36

The discriminant of the equation x’+ 2x\3+3= 0( )

X2+ 2%y/3+ 3= 0305805 @od), DS5EH

A) -1 B) 1 C)-2 D)0
I[fA={1,2,3,4, } then number of subsets of A. ( )
A={1,2,3,4,} oond A% Ko &55He Losy

A) 15 B) 16 O) 14 D) 20

a
bix[x y Zz]
c

Order of Se@8 HO5e0 ( )

A)3 x 2 Matrix Se(@8
C)1x 3 Matrix $o(@8

B) 3 x 1 Matrix &~(@%
D) 3 x 3 Matrix &=(&8

A quadralateral which has exactly one pair of parallel
sides is called ( )
a8 2388 X088 ghazeen Ko zﬁééad)awéb& SYelten)

4
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33.

34.

35.

36.

37.

38.

38.

A) aparallelogram SrodBSSBe0
B) arhombus Ssdgmo
C) araectangle BESEB(50
D) a trapezium Sheos SEyo

The number of measurements required to construct a

quadralateral is ( )
a8 iSe‘é)ti)Q&éw 206&05)&0&) se50S 895 Fode éoapg

A) 5 B) 4 O) 3 D) 1

Two adjacent sides of a parallelogram are Scm and

7cm. Its perimeteris cm ( )

28 Jdross z‘jéaé)a)&o@% 8] ghere Soden

5 0. . 83w 7 20.80.0°0 HHepEes.... 0.3,

A) 12 B) 36 C)24 D) 48

If 'A'is 2 X 2 matrix such that A=A, thenA? ( )
'A' 2,8 2 X 2 @8, A=A lwond A’=

01 00 11 10
M1 ol Blo o] 9011] Plo 1

.... isused as decision box in a flow chart ( )
EHDB0S® AgahDBEM IV GHEPATED

A) Circle &&:o B) Rhombus {:5égyeso

C) Ellipse &8 &)@ D) Square £35S0

Slope of a line perpendicular to the line 3x—2y+1=0is
3X—2y+1= 0% eoworr Hod S5ETe aren. ( )

NS B g2 p2

) 2 ) 2 ) 3 ) 3

Order of matrix A1s2 X 1, order of matrix Bis2 X 1,
then the order of A+ B is ( )

So@5 A $5mesm 2 X 1, $0@5 B $85mwesn 2 X 1
A + B $m(@8 $8measn

A)2X1 B) 4X2 C)2%X2 D) 1x1

The pointon Y - axisis Y - 5w 2 a8 Hothsd ( )
A) (1,0) B) (I,1) C) (0,0 D) (0,2)

5
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39.

40.

41.

42.

43.

44,

45.

46.

Analytical geometry was introduced by. . ...... ( )
3308 TerrBTrd) (HEFHODIG . ......

A) Renedescartes 336378  B) Newton Loeseos
C)Ramanujan oS D) Arthur Caley e85 =28

1 0| 2 X
3 1 _lzs,then@cmé X = ( )

A) 3 B) 2 O 1 D) -1
A car covers 30 km at a uniform speed of 60 km/hr.

and the next 30 km at a uniform speed of 40 km/hr
the total time takenis ......... min ( )
2.8 2% 30 8.80.8r85m 60 8.80/Koey SKsn&
SBoaed 30 8.50.8578508% 40 8.80/Koe Ixsws® (HosredodS
DS I0go SPOW ... Q&3030en
A) 30 B) 90 ) 75 D) 45
m/s?is the unitof ..... &R H..... PSreadn  ( )
A) time sod»  B)speed Ssn

C) acceleration &gesn D) force aeo

The work done by a force of 5N to displace a book
through 20 cm along the direction of the pushis..J ( )
28 HBEIND b S wosnd oF BISHEPNOND

TeQS® P(godSn 20 20.80.0005HH 8BAS HI....Feve.

A)1.0 ® B) 5.0 (©)3.0 D)4.0
The kinetic energy of a ball of mass 200g moving at
aspeed of 20 cm/sis .... J ( )

2.8 200 [(rdwe 208 20 od IKSns® (HATaR

8 BOAS 18EE ... e,

A)0.001 B) 0.004 C)0.005 D) 0.007

The work done by student in lifting a 500g book from the
ground nad keeping it on a shelf of height 1.5 mis... J )

A)7.35] B)830J (€)5401J] D)6.45)
Abird flying inthe sky has dA3 088 Ko $8 ( )
A)K.Erxaed B)PE 384

C) A and $855» B D) none H&s0eH

6



Godavari Talent Test IX Class Science

47.

48.

49.

50.

51.

52.

53.

54.

55.

56.

57.

The minimum distance between two consequent

crests is called 58 &8 S6KS® &) Toth Gorre

Loels EPBE. ... 90T ( )
A) wavelength 8601588 so B) amplitude 505550508

C) dispacement Figiodo D) wave pulse Ssorizeé

Sound travel fastest in the following media ( )
BobardS® BIS® ¢ BriSore (FHirRoSH

A)Aire®  B) Steel e C) Water 3% D) glass rees

The relation between o, B,y o &gl Somolo  ( )
A)2:3:1 B)3:2:1 €)2:1:3 D)1:2:3
Onelightyearisequalto 2.8 5208 Josk&o = ( )

A)9.46 x 102km 8.&. B) 9.46 x 102 cm?o. 8.
(C)9.46 x 10”m . D) 9.46 x 10> mm &o. 8.
Corsponding temperature in the Kelvin scale

for 104°F is ( )
104°F & $5m85ooms eafrs S8 e

A)203K B)308K C)313K D) 377K

An example of an ionic substance ( )
(BodTPAS® ©asredE ST ST

A)HCI B)H,0O C) NaCl D) O,
Anexample of polar covalent molecule ( )
659)266263@30&50063 0N GTeTEes

A)Cl, B)NaCl  C)HCI D) MgO
Avogadro's number is ©Sre(EE Soag ( )
A) 6.203 X10% B) 6.023 X10%

C) 6.023 X10-* D) 6.203 X10-*

The formula of marble chipsSensioron esnariye ( )
A) CaHCO, B)CaCl, C) CuCO, D) CaCO,
Name the scientist who named cathode ray particle

as an electron 86°E €08 TS © DHDYSH ( )
A)GlJ.Stoney .20  B)Niels Bohr 0&5°6

C) Schrodinger @&or6 D) Heisenberg 28208

Bond angle in Ammonia molecule ( )
7
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58.

59.

60.

61.

62.

63.

64.

65.

66.

67.

@9330&200630 ©E0HSY 2008 Seadn

A) 105° B) 109° C)103° D) 107°

1 amu =..... grams [re&oen ( )
A)16.4x10% B) 164x10>'C) 1.64x10>* D) 0.164x 102*
The scientist who discovered neutrons is..... ( )
Syt BHRE) TEIS ...

A)JJ. Thompson 22 s)S  B)Goldstein F°§3 29

C) G. Stoney 2.0 D) Chadwick w&ogg

The maximum number of electrons present in any
orbit is generally given by the formula...... ( )
DB 8E 8% dolgeve Doggi SO TrE0 ...

A) n? B) 2n* C) 32 D)4n’

One Micrometer is ..... nm ( )
.8 DE S ... S ed

A) 100 B) 10 0)0.1 D) 0.01

Life of red blood cells is..... days ( )
ABBE Sezro EDBroR. ... Slaren

A) 100 B) 140 C) 120 D) 80

Male mosquito feeds on o5 &% ess®E50 ( )
A)Blood  885%» B) Plant juices Sw&)e Sradaren
C)Honey &3 D) Water &%

pH is the concentration of .... ions ( )
PH &l ... eeode mEs

A) Sodium b&csHo B) Sulphate  $8)5

C) Chloride &*3& D) Hydrogen 3we(Efe:&
Number of pairs of saliavary glands are ( )
rerae (ot Dogy ... esden

A) 2 B) 1 0) 3 D)4

Structural unit of kidney in human being is ( )

Lo (@DHotre BwE) (BarEE Joesen
A)Nephron IS B) Bowman's capsule &soQyss)&
C)Ureter o886 D) None dbseehd

Type of reactions occur on the surface of the sun  ( )
B850 600800 P w8 SBgen

8
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68.

69.

70.

71.

72.

73.

74.

75.

A)Nuclear fusion Solg% 98 B) Nuclear fissionSos $odo
C) A andsoscio B D) none s

In Andhra Pradesh coal mines are present in ( )
so|BHRES® &P enotd (DBE50

A) Vijayawada descdhaes B) Vizag  Jeeh

C) Bellampally @209 D) Tirupati 8658

Fuel used in nuclear reactors are ( )
Sos80H6 60‘53°§§;3’5 B mosbore rEEed

A)Uranium c080co  B) Plutonium 53¢5*dco

C) Thorium &%8cHo D)AIl ey

The scientist proposed cell theory is ( )
éea?oa;oé:ﬁ:a;éa (SBFBoRI r‘o'°§;3§

A) Schleiden and Schwann §58 8050 &S

B) Robert Brown oea§ (°8

C) Schleiden 2sS D) Rudolf Virchow 8we&ysehy
Spindle fibres disappearduring ( )
ok BoehHen @Cﬁe)ra’egéa(ﬁ)?g &8

A) Anaphase $So$68 B) Metaphase $o¢5e58

C) Telophasewods &8 D) Prophase  (©¢506%
Number of daughter cells formed at the end of metosis are

BohBe DeesdS® DGR Dy Sere oy ( )
A) 2 B) 4 C) 6 D) 8
Which is the major type of cancer in man ( )

HoHest QENHT® :5323 St
A) Cancer of intestine (e %6

B) Lung Cancer 3208 5295

C) Breast Cancer &7y 50

D) Bone Cancer Qw8 =26

Gibberellic acid is a 8398 esiyin @l6 ( )

A)Plant hormone ange 58655 B) Insecticide 8¢5 o506
C) Pesticide (8 $05%80 D) Enzyme dozsm

Fat is stored in (§°%g Jevs Ho& Sewo ( )
A) Adipocytes Q&8¢ Seasio B) Platelets $08en
C)Glialcells AcHS Bezeen D) Fibriblasts 3i&®eexgen
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76. ........ is not insectivorous plant &e:s°:5%8 Bz ( )
A)Drosera (§5oe B)Nepenthis 32

B)

029

C)Dionea Z&r08w D) Hibiscus 3880
77. Radulais present in ootigeredd O &) oy  ( )
A) Mosquito &8 B) Earthworm  ar&arsn
C)Snails 38 D) Frog £
78. Caprophagy is seen in S#8a¢ae) [©E50.0% 22085)( )
A) Cow &3 B) Rabbit %oden C) Goat 38 D) Ox ¢
79. Digestive juice without enzyme Qo@smen 8 8o ( )

A) Bile 28560 B) Gastric juice eso(@550
C) Pancreatic juice 8880 D) Saliva ererezoo
80. The alkaloid in the leaf of neemis ( )
3D edhs® &%) seront
A)Morphin  &78)8 B) Reserpine 3288
C)Quinine &3S D) Nimbin Q085
81.Mistralisa..... g5 8 ... ( )
A)Hotwind &3 5555 B) Westerly wind8ys 5880
C) Oceanic wind $5n(& $5550D) Cold wind 88 $5550
82. Mount Haleakola is in .. 3rer80er 58880 ang)i 958, )
A) Tanzania  éro@dcie  B)Hawaii  &earow

C) The Andaman o&s»S D) Indonesia =0&83%05m

83.Bikal lake is in ...B8s°& $850) 288 ed)8. ( )
A) Turkey &8 B) Siberiapfeaie
C) Uzbekistan ¢z8S D) U.S. A o8 bochos oogken
84. Kabus were lived in seene® 308 00ists QS1R. ( )
A) Sumatra Kooz B)Java erae
C) Sri Lanka (8e0¥ D) Brunei (g3
85. In our country in 1993 an earthquake strcuk in at ( )
A) Latur  er&rd B) poona = $rae

10
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C) Mumbai Swoeron D) Nagpur =558

86. St. Sophia's church was built by ... ( )
2000¢5 VYA LB DBOAIB ...
A) Justinian 20058 B) Constantine 5253088
C) Alexander 8rpoxt D) Julius Caesares=dcs® &5
87. Mariners' compasses was invented by ( )
Tz HERAI BHFH.
A) Japan xS B) Persia $8¢5%e
C) China 3= D) India so&ce
88. The holy city of Jews is a%0othe H5QE 580 ... ( )
A) Rome 5% B) Jerusalem 85285
C) Alexandria e8rpo@a> D) Cairo 3&°
87. Mariners' compasses was invented by ( )
Tz HERAI BHFH.
A) Japan e:arS B) Persia $8¢5%e
C) China 3z D) India so&dse
88. The holy city of Jews is oS0t H5Q(E 580 ... ( )
A) Rome &% B) Jerusalem 85285
C) Alexandria e8rpo@a> D) Cairo 3&°

nn

89. "Divine Comedy"" was written by . ( )
B3 TDHE” D EDoADH.

A)Dante w08 B) Virgil  £8&
C) Socrates B8 D) Erasmus dooS
90. The city of Rome was built on the bank of ( )
B8 S50 & K6 2.t ABYOTEIB.
A) Danube wgrgd B)Nile 3&
C) Tiber Bb6 D) Horace &55°c°%

11
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91. 44th Constitutional Amendment was passed in this year ( )
443 Tregol SBBD IS RD0DEBXw.
A) 1976 B) 1977

C) 1978 D) 1979

92. The age of retirement of a judge of the Supreme Courtis( )
008 Tt B0 GESHIBED SR,
A) 60 years So&8swen B) 62 years

C) 65 years D) 58 years

93. The number of Rajya Sabha Members from Andhra Pradesh is
BO(F(HES Sood Traggdel Dghge Doy .. ( )
A) 16 B) 18
C) 42 D) 26

94. So far the number of Presidents removed from affice by
impeachment is .. 3B58% 5O Eojbo TRT° oS08

TgBEO HEDSHTTS. ( )
A)3 B)2 O)1 D) None Q5&85.
95. The First battle of Panipat was waged in ( )
FBE FRDHER 0o BONDH
A) 1470 A.D. B) 1526 A.D.
C) 1556 A.D. D) 1595A.D.
96. The term economics is derived from .... ( )

“REIDNEY” 0 DEdE Koo gPR
A) Latin worder&S 5o B) Russian word 8580
C) French word (309 %o D) Greek word  (3%se0
97. The energy that food gives is measured in...... ( )
W0 95) 80 HBIS® oot
A) Calories scoben B) units  cSwexn
C) degrees &fen D) vitamins 805

12
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96. The term economics is derived from .... ( )
“REIDEY” @D Hueds e gl
A) Latin worder&S 5o B) Russian word 8880
C) French word (309 %o D) Greek word (Ao
97. Wealth tax is imposed and collected by ( )
D038 DAY VBN Hoeen IDB........
A) the limited companies 5808 Sogen
B) the Central Government So( (480
C) the local bodies 5;:0% Bosmeen

D) the State Government SR ERASY
98. The Central budget is presented in the Lok Sabhais  ( )
ol 2ges Qe B0 (HBFFHOHDED .

A) 31March S8y 31536
B) 1st March $70) 1538
C) The last working day in February %586 S 958 $0650
D) Ist February 258 1588
99. Cyclones are called asWilly - willy in...... ( )

DY - DY vt SBaS50e0 o)t KD,
A)West Indies islands 58y so&cirdden

B) Canada EiNax
C)Gulfof Mexico ~ &88° dogoeee
D) Australia (RO
100.kalhari desert is in this continent ... ( )
BosHd dued & Poddns® &o.
A) Africa esze B) Australia  e(Qocie

C) North America &85 @308s° D) Europe cir8
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